

**p -NORMS DISCRETE INEQUALITIES FOR TWO SEQUENCES
RELATED TO LASOTA-OPIAL'S RESULT**

SILVESTRU SEVER DRAGOMIR^{1,2}

ABSTRACT. For a sequence $\{x_i\}_{i=0}^n$, we consider the forward operator Δ defined by $\Delta x_i = x_{i+1} - x_i$, $i = 0, \dots, n-1$. Assume that $\{x_i\}_{i=0}^N, \{y_i\}_{i=0}^N$ are sequences of complex numbers. In this paper we show among others that, if $y_0 = 0$, then for $n \in \{2, \dots, N\}$,

$$\sum_{i=1}^{n-1} |\Delta x_i| |y_i| \leq \left(\sum_{i=0}^{n-1} i |\Delta x_i|^p \right)^{1/p} \left(\sum_{i=0}^{n-1} (n-i-1) |\Delta y_i|^q \right)^{1/q}$$

while, if $y_N = 0$, then for $n \in \{1, \dots, N-1\}$,

$$\sum_{i=n}^{N-1} |\Delta x_i| |y_i| \leq \left(\sum_{i=n}^{N-1} (N-i) |\Delta x_i|^p \right)^{1/p} \left(\sum_{i=n}^{N-1} (i+1-n) |\Delta y_i|^q \right)^{1/q}.$$

Some particular inequalities of interest are also provided.

1. INTRODUCTION

We recall the following Opial type inequalities:

Theorem 1. *Assume that $u : [a, b] \subset \mathbb{R} \rightarrow \mathbb{R}$ is an absolutely continuous function on the interval $[a, b]$ and such that $u' \in L_2[a, b]$.*

(i) *If $u(a) = u(b) = 0$, then*

$$(1.1) \quad \int_a^b |u(t) u'(t)| dt \leq \frac{1}{4} (b-a) \int_a^b |u'(t)|^2 dt,$$

with equality if and only if

$$u(t) = \begin{cases} c(t-a) & \text{if } a \leq t \leq \frac{a+b}{2}, \\ c(b-t) & \text{if } \frac{a+b}{2} < t \leq b \end{cases}$$

where c is an arbitrary constant;

(ii) *If $u(a) = 0$, then*

$$(1.2) \quad \int_a^b |u(t) u'(t)| dt \leq \frac{1}{2} (b-a) \int_a^b |u'(t)|^2 dt,$$

with equality if and only if $u(t) = c(t-a)$ for some constant c ;

(iii) *If $\int_a^b u(t) dt = 0$, then the inequality (1.1) holds with equality if and only if*

$$u(t) = c \left(t - \frac{a+b}{2} \right)$$

1991 *Mathematics Subject Classification.* 26D15; 26D10.

Key words and phrases. Opial's inequality, Discrete inequalities, Lasota's inequality.

for any constant c .

The inequality (1.1) was obtained by Olech in [8] in which he gave a simplified proof of an inequality originally due in a slightly less general form to Zdzislaw Opial [9].

Embedded in Olech's proof is the half-interval form of Opial's inequality, also discovered by Beesack [2], which is satisfied by those u vanishing only at a .

The inequality (1.1) in the case (iii), namely in the case that u satisfies the condition $\int_a^b u(t) dt = 0$ was obtained by Brown and Plum in [4].

As mentioned in [4] the inequality (1.1) also holds if $u(a) + u(b) = 0$.

For a sequence $\{x_i\}_{i=0}^n$, we consider the forward operator Δ defined by $\Delta x_i = x_{i+1} - x_i$, $i = 0, \dots, n-1$. The summation by parts formula also holds

$$(1.3) \quad \sum_{k=m}^n a_k \Delta b_k = a_n b_{n+1} - a_m b_m - \sum_{k=m}^{n-1} b_{k+1} \Delta a_k.$$

In [7], Lasota provided discrete versions of Opial inequality (1.1) about the forward difference operator as follows:

Theorem 2. Let $\{x_i\}_{i=0}^N$ be a sequence of numbers real numbers with $x_0 = x_N = 0$. Then, the following inequality holds

$$(1.4) \quad \sum_{i=1}^{N-1} |x_i \Delta x_i| \leq \frac{1}{2} \left[\frac{N+1}{2} \right] \sum_{i=0}^{N-1} |\Delta x_i|^2,$$

where $[\cdot]$ is the integer part function. If N is even, then the inequality (1.4) is sharp.

Also, we have the following results, see [1]:

Theorem 3. Let $\{x_i\}_{i=0}^N$ be a sequence of numbers real numbers. If $x_0 = 0$, then

$$(1.5) \quad \sum_{i=1}^{\tau-1} |x_i \Delta x_i| \leq \frac{1}{2} (\tau-1) \sum_{i=0}^{\tau-1} |\Delta x_i|^2, \quad \tau \in \{2, \dots, N\}.$$

If $x_N = 0$, then

$$(1.6) \quad \sum_{i=\tau}^{N-1} |x_i \Delta x_i| \leq \frac{1}{2} (N-\tau+1) \sum_{i=0}^{N-1} |\Delta x_i|^2, \quad \tau \in \{1, \dots, N-1\}.$$

For other discrete Opial type inequalities, see [5], [6] and [10]-[13].

Motivated by the above results, in this paper we obtain various p -norms upper bounds for the quantities

$$\sum_{i=1}^{\tau-1} |x_i \Delta y_i|, \quad x_0 = 0, \quad \tau \in \{2, \dots, N\}$$

and

$$\sum_{i=\tau}^{N-1} |x_i \Delta y_i|, \quad x_N = 0, \quad \tau \in \{1, \dots, N-1\},$$

where $\{x_i\}_{i=0}^N$, $\{y_i\}_{i=0}^N$ are sequences of complex numbers.

2. MAIN RESULTS

We have the following result for two sequences:

Theorem 4. *Assume that $\{x_i\}_{i=0}^N, \{y_i\}_{i=0}^N$ are sequences of complex numbers. If $y_0 = 0$, then for $n \in \{2, \dots, N\}$,*

$$(2.1) \quad \sum_{i=1}^{n-1} |\Delta x_i| |y_i| \leq \left(\sum_{i=0}^{n-1} i |\Delta x_i|^p \right)^{1/p} \left(\sum_{i=0}^{n-1} (n-i-1) |\Delta y_i|^q \right)^{1/q} \\ \leq \frac{1}{p} \sum_{i=0}^{n-1} i |\Delta x_i|^p + \frac{1}{q} \sum_{i=0}^{n-1} (n-i-1) |\Delta y_i|^q,$$

where $p, q > 1, \frac{1}{p} + \frac{1}{q} = 1$.

In particular,

$$(2.2) \quad \sum_{i=1}^{n-1} |\Delta x_i| |y_i| \leq \left(\sum_{i=0}^{n-1} i |\Delta x_i|^2 \right)^{1/2} \left(\sum_{i=0}^{n-1} (n-i-1) |\Delta y_i|^2 \right)^{1/2} \\ \leq \frac{1}{2} \sum_{i=0}^{n-1} \left(i |\Delta x_i|^2 + (n-i-1) |\Delta y_i|^2 \right).$$

Proof. Let $n \in \{2, \dots, N\}$. Since $y_0 = 0$, hence $y_i = \sum_{j=0}^{i-1} \Delta y_j$ for $i = 1, \dots, n-1$. Then

$$\sum_{i=1}^{n-1} |\Delta x_i| |y_i| = \sum_{i=1}^{n-1} |\Delta x_i| \left| \sum_{j=0}^{i-1} \Delta y_j \right| = \sum_{i=1}^{n-1} i^{1/p} |\Delta x_i| i^{-1/p} \left| \sum_{j=0}^{i-1} \Delta y_j \right| =: A.$$

Using the discrete Hölder inequality for $p, q > 1, \frac{1}{p} + \frac{1}{q} = 1$, we have

$$A \leq \left(\sum_{i=1}^{n-1} i |\Delta x_i|^p \right)^{1/p} \left[\sum_{i=1}^{n-1} i^{-q/p} \left| \sum_{j=0}^{i-1} \Delta y_j \right|^q \right]^{1/q} =: B.$$

By Hölder's inequality we have

$$i^{-1/p} \left| \sum_{j=0}^{i-1} \Delta y_j \right| \leq \left(\sum_{j=0}^{i-1} |\Delta y_j|^q \right)^{1/q},$$

which implies that

$$i^{-q/p} \left| \sum_{j=0}^{i-1} \Delta y_j \right|^q \leq \sum_{j=0}^{i-1} |\Delta y_j|^q,$$

which implies that

$$(2.3) \quad B \leq \left(\sum_{i=1}^{n-1} i |\Delta x_i|^p \right)^{1/p} \left[\sum_{i=1}^{n-1} \left(\sum_{j=0}^{i-1} |\Delta y_j|^q \right) \right]^{1/q}.$$

From (1.3), we have for $m = 1$ and n is replaced by $n-1$ that

$$\sum_{i=1}^{n-1} a_i \Delta b_i = a_{n-1} b_n - a_1 b_1 - \sum_{i=1}^{n-2} b_{i+1} \Delta a_i,$$

which by taking $a_i = \sum_{j=0}^{i-1} |\Delta y_j|^q$, $b_i = i$, produces that

$$\begin{aligned}
& \sum_{i=1}^{n-1} \left(\sum_{j=0}^{i-1} |\Delta y_j|^q \right) \\
&= n \sum_{j=0}^{n-2} |\Delta y_j|^q - |\Delta y_0|^q - \sum_{i=1}^{n-2} (i+1) |\Delta y_i|^q \\
&= n |\Delta y_0|^q - |\Delta y_0|^q + n \sum_{j=1}^{n-2} |\Delta y_j|^q - \sum_{i=1}^{n-2} (i+1) |\Delta y_i|^q \\
&= (n-1) |\Delta y_0|^q + \sum_{i=1}^{n-2} (n-i-1) |\Delta y_i|^q = \sum_{i=0}^{n-2} (n-i-1) |\Delta y_i|^q.
\end{aligned}$$

Now, it is obvious that

$$\sum_{i=1}^{n-1} i |\Delta x_i|^q = \sum_{i=0}^{n-1} i |\Delta x_i|^q$$

and

$$\sum_{i=0}^{n-2} (n-i-1) |\Delta y_i|^q = \sum_{i=0}^{n-1} (n-i-1) |\Delta y_i|^q.$$

By making use of (2.3), we derive the first inequality in (2.1).

The second inequality follows by the elementary inequality

$$(2.4) \quad \alpha^{1/p} \beta^{1/q} \leq \frac{1}{p} \alpha + \frac{1}{q} \beta, \quad \alpha, \beta \geq 0.$$

□

Corollary 1. *With the assumptions of Theorem 4 we have*

$$\begin{aligned}
(2.5) \quad \sum_{i=1}^{n-1} |\Delta x_i| |y_i| &\leq \left(\sum_{i=0}^{n-1} i |\Delta x_i|^p \right)^{1/p} \left(\sum_{i=0}^{n-1} (n-i-1) |\Delta y_i|^q \right)^{1/q} \\
&\leq \begin{cases} \frac{(n-1)n}{2} \max_{i \in \{0, \dots, n-1\}} |\Delta x_i| \max_{i \in \{0, \dots, n-1\}} |\Delta y_i|, \\ (n-1) \left(\sum_{i=1}^{n-1} |\Delta x_i|^p \right)^{1/p} \left(\sum_{i=1}^{n-1} |\Delta y_i|^q \right)^{1/q}, \end{cases}
\end{aligned}$$

where $p, q > 1$, $\frac{1}{p} + \frac{1}{q} = 1$.

In particular,

$$\begin{aligned}
(2.6) \quad \sum_{i=1}^{n-1} |\Delta x_i| |y_i| &\leq \left(\sum_{i=0}^{n-1} i |\Delta x_i|^2 \right)^{1/2} \left(\sum_{i=0}^{n-1} (n-i-1) |\Delta y_i|^2 \right)^{1/2} \\
&\leq (n-1) \left(\sum_{i=0}^{n-1} |\Delta x_i|^2 \right)^{1/2} \left(\sum_{i=0}^{n-1} |\Delta y_i|^2 \right)^{1/2}.
\end{aligned}$$

Proof. We have

$$\sum_{i=0}^{n-1} i |\Delta x_i|^p \leq \max_{i \in \{1, \dots, n-1\}} |\Delta x_i|^p \sum_{i=0}^{n-1} i = \frac{(n-1)n}{2} \max_{i \in \{0, \dots, n-1\}} |\Delta x_i|^p$$

and

$$\begin{aligned} \sum_{i=0}^{n-1} (n-i-1) |\Delta y_i|^q &\leq \max_{i \in \{0, \dots, n-1\}} |\Delta y_i|^p \sum_{i=0}^{n-1} (n-i-1) \\ &= \frac{(n-1)n}{2} \max_{i \in \{0, \dots, n-1\}} |\Delta y_i|^p. \end{aligned}$$

Also,

$$\sum_{i=0}^{n-1} i |\Delta x_i|^p \leq (n-1) \sum_{i=0}^{n-1} |\Delta x_i|^p, \quad \sum_{i=0}^{n-1} (n-i-1) |\Delta y_i|^q \leq (n-1) \sum_{i=0}^{n-1} |\Delta y_i|^p.$$

These complete the proof. \square

Remark 1. Assume that $\{x_i\}_{i=0}^N$ is a sequence of complex numbers with $x_0 = 0$, then for $n \in \{2, \dots, N\}$,

$$(2.7) \quad \begin{aligned} \sum_{i=1}^{n-1} |\Delta x_i| |x_i| &\leq \left(\sum_{i=0}^{n-1} i |\Delta x_i|^2 \right)^{1/2} \left(\sum_{i=0}^{n-1} (n-i-1) |\Delta x_i|^2 \right)^{1/2} \\ &\leq \frac{1}{2} (n-1) \sum_{i=0}^{n-1} |\Delta x_i|^2. \end{aligned}$$

Also, we have the complementary result:

Theorem 5. Assume that $\{x_i\}_{i=0}^N, \{y_i\}_{i=0}^N$ are sequences of complex numbers. If $y_N = 0$, then for $n \in \{1, \dots, N-1\}$, then

$$(2.8) \quad \begin{aligned} \sum_{i=n}^{N-1} |\Delta x_i| |y_i| &\leq \left(\sum_{i=n}^{N-1} (N-i) |\Delta x_i|^p \right)^{1/p} \left(\sum_{i=n}^{N-1} (i+1-n) |\Delta y_i|^q \right)^{1/q} \\ &\leq \frac{1}{p} \sum_{i=n}^{N-1} (N-i) |\Delta x_i|^p + \frac{1}{q} \sum_{i=n}^{N-1} (i+1-n) |\Delta y_i|^q, \end{aligned}$$

where $p, q > 1, \frac{1}{p} + \frac{1}{q} = 1$.

In particular,

$$(2.9) \quad \begin{aligned} \sum_{i=n}^{N-1} |\Delta x_i| |y_i| &\leq \left(\sum_{i=n}^{N-1} (N-i) |\Delta x_i|^2 \right)^{1/2} \left(\sum_{i=n}^{N-1} (i+1-n) |\Delta y_i|^2 \right)^{1/2} \\ &\leq \frac{1}{2} \sum_{i=n}^{N-1} \left[(N-i) |\Delta x_i|^2 + (i+1-n) |\Delta y_i|^2 \right]. \end{aligned}$$

Proof. If $y_N = 0$, then $y_i = -\sum_{j=i}^{N-1} \Delta y_j$ for $i = n+1, \dots, N-1$. Then

$$\begin{aligned} \sum_{i=n}^{N-1} |\Delta x_i| |y_i| &= \sum_{i=n}^{N-1} |\Delta x_i| \left| \sum_{j=i}^{N-1} \Delta y_j \right| \\ &= \sum_{i=n}^{N-1} (N-i)^{1/p} |\Delta x_i| \frac{1}{(N-i)^{1/p}} \left| \sum_{j=i}^{N-1} \Delta y_j \right| =: C. \end{aligned}$$

By the discrete Hölder's inequality, we have

$$\begin{aligned}
(2.10) \quad C &\leq \left(\sum_{i=n}^{N-1} (N-i) |\Delta x_i|^p \right)^{1/p} \left(\sum_{i=n}^{N-1} \frac{1}{(N-i)^{q/p}} \left| \sum_{j=i}^{N-1} \Delta y_j \right|^q \right)^{1/q} \\
&= \left(\sum_{i=n}^{N-1} (N-i) |\Delta x_i|^p \right)^{1/p} \left[\sum_{i=n}^{N-1} \left(\frac{1}{(N-i)^{1/p}} \left| \sum_{j=i}^{N-1} \Delta y_j \right| \right)^q \right]^{1/q} \\
&\leq \left(\sum_{i=n}^{N-1} (N-i) |\Delta x_i|^p \right)^{1/p} \left[\sum_{i=n}^{N-1} \left(\left(\sum_{j=i}^{N-1} \|\Delta y_j\|^q \right)^{1/q} \right)^q \right]^{1/q} \\
&= \left(\sum_{i=n}^{N-1} (N-i) |\Delta x_i|^p \right)^{1/p} \left[\sum_{i=n}^{N-1} \left(\sum_{j=i}^{N-1} |\Delta y_j|^q \right) \right]^{1/q} =: D.
\end{aligned}$$

From (1.3) we have

$$\sum_{i=n}^{N-1} a_i \Delta b_i = a_{N-1} b_N - a_n b_n - \sum_{i=n}^{N-2} b_{i+1} \Delta a_i,$$

and by $a_i = \sum_{j=i}^{N-1} |\Delta y_j|^q$ and $b_i = i$, we have

$$\begin{aligned}
&\sum_{i=n}^{N-1} \left(\sum_{j=i}^{N-1} |\Delta y_j|^q \right) \\
&= N |\Delta y_{N-1}|^q - n \sum_{j=n}^{N-1} |\Delta y_j|^q - \sum_{i=n}^{N-2} (i+1) \left(\sum_{j=i+1}^{N-1} |\Delta y_j|^q - \sum_{j=i}^{N-1} |\Delta y_j|^q \right) \\
&= N |\Delta y_{N-1}|^q + \sum_{i=n}^{N-2} (i+1) |\Delta y_i|^q - n \sum_{j=n}^{N-1} |\Delta y_j|^q. \\
&= N |\Delta y_{N-1}|^q + \sum_{i=n}^{N-2} (i+1) |\Delta y_i|^q - n \sum_{j=n}^{N-2} |\Delta y_j|^q - n |\Delta y_{N-1}|^q \\
&= \sum_{i=n}^{N-2} (i+1) |\Delta y_i|^q - n \sum_{j=n}^{N-2} |\Delta y_j|^q \\
&= \sum_{i=n}^{N-2} (i+1-n) |\Delta y_i|^q + (N-n) |\Delta y_{N-1}|^q = \sum_{i=n}^{N-1} (i+1-n) |\Delta y_i|^q.
\end{aligned}$$

Then

$$D = \left(\sum_{i=n}^{N-1} (N-i) |\Delta x_i|^p \right)^{1/p} \left(\sum_{i=n}^{N-1} (i+1-n) |\Delta y_i|^q \right)^{1/q},$$

which, by (2.10), proves the first inequality in (2.8).

The second part follows by Young's inequality (2.4). The last part is obvious. \square

Corollary 2. *With the assumptions of Theorem 5 we have*

$$\begin{aligned}
 (2.11) \quad & \sum_{i=n}^{N-1} |\Delta x_i| |y_i| \\
 & \leq \left(\sum_{i=n}^{N-1} (N-i) |\Delta x_i|^p \right)^{1/p} \left(\sum_{i=n}^{N-1} (i+1-n) |\Delta y_i|^q \right)^{1/q} \\
 & \leq \begin{cases} \frac{(N-n)(N-n+1)}{2} \max_{i \in \{n, \dots, N-1\}} |\Delta x_i| \max_{i \in \{n, \dots, N-1\}} |\Delta y_i|, \\ (N-n) \left(\sum_{i=n}^{N-1} |\Delta x_i|^p \right)^{1/p} \left(\sum_{i=n}^{N-1} |\Delta y_i|^q \right)^{1/q}, \end{cases}
 \end{aligned}$$

where $p, q > 1, \frac{1}{p} + \frac{1}{q} = 1$.

In particular,

$$(2.12) \quad \sum_{i=n}^{N-1} |\Delta x_i| |y_i| \leq (N-n) \left(\sum_{i=n}^{N-1} |\Delta x_i|^2 \right)^{1/2} \left(\sum_{i=n}^{N-1} |\Delta y_i|^2 \right)^{1/2}.$$

Proof. We have

$$\begin{aligned}
 \sum_{i=n}^{N-1} (N-i) |\Delta x_i|^p & \leq \max_{i \in \{n, \dots, N-1\}} |\Delta x_i|^p \sum_{i=n}^{N-1} (N-i) \\
 & = \frac{(N-n)(N-n+1)}{2} \max_{i \in \{n, \dots, N-1\}} |\Delta x_i|^p
 \end{aligned}$$

and

$$\begin{aligned}
 \sum_{i=n}^{N-1} (i+1-n) |\Delta y_i|^q & \leq \max_{i \in \{n, \dots, N-1\}} |\Delta y_i|^q \sum_{i=n}^{N-1} (i+1-n) \\
 & = \frac{(N-n)(N-n+1)}{2} \max_{i \in \{n, \dots, N-1\}} |\Delta y_i|^q.
 \end{aligned}$$

Also

$$\begin{aligned}
 \sum_{i=n}^{N-1} (N-i) |\Delta x_i|^p & \leq (N-n) \sum_{i=n}^{N-1} |\Delta x_i|^p, \quad \sum_{i=n}^{N-1} (i+1-n) |\Delta y_i|^q \\
 & \leq (N-n) \sum_{i=n}^{N-1} |\Delta y_i|^q
 \end{aligned}$$

and the inequality is proved. \square

Remark 2. *Assume that $\{x_i\}_{i=0}^N$ is a sequence of complex numbers with $x_N = 0$, then for $n \in \{1, \dots, N-1\}$,*

$$\begin{aligned}
 (2.13) \quad & \sum_{i=n}^{N-1} |\Delta x_i| |x_i| \leq \left(\sum_{i=n}^{N-1} (N-i) |\Delta x_i|^2 \right)^{1/2} \left(\sum_{i=n}^{N-1} (i+1-n) |\Delta x_i|^2 \right)^{1/2} \\
 & \leq \frac{1}{2} (N-n) \sum_{i=n}^{N-1} |\Delta x_i|^2.
 \end{aligned}$$

We also have the following result that incorporates both cases:

Theorem 6. Assume that $\{x_i\}_{i=0}^N, \{y_i\}_{i=0}^N$ are sequences of complex numbers. If $y_0 = y_N = 0$, then for $n \in \{2, \dots, N-1\}$, $p, q > 1, \frac{1}{p} + \frac{1}{q} = 1$

$$(2.14) \quad \sum_{i=1}^{N-1} |\Delta x_i| |y_i| \leq \left(\sum_{i=0}^{N-1} p_i(n) |\Delta x_i|^p \right)^{1/p} \left(\sum_{i=0}^{N-1} q_i(n) |\Delta y_i|^q \right)^{1/q} \\ \leq \frac{1}{p} \sum_{i=0}^{N-1} p_i(n) |\Delta x_i|^p + \frac{1}{q} \sum_{i=0}^{N-1} q_i(n) |\Delta y_i|^q,$$

where

$$p_i(n) := \begin{cases} i, & \text{if } 0 \leq i \leq n-1, \\ N-i, & \text{if } n \leq i \leq N-1 \end{cases}$$

and

$$q_i(n) := \begin{cases} n-i-1, & \text{if } 0 \leq i \leq n-1, \\ i+1-n, & \text{if } n \leq i \leq N-1. \end{cases}$$

In particular,

$$(2.15) \quad \sum_{i=1}^{N-1} |\Delta x_i| |y_i| \leq \left(\sum_{i=0}^{N-1} p_i(n) |\Delta x_i|^2 \right)^{1/2} \left(\sum_{i=0}^{N-1} q_i(n) |\Delta y_i|^2 \right)^{1/2} \\ \leq \frac{1}{2} \sum_{i=0}^{N-1} [p_i(n) |\Delta x_i|^2 + q_i(n) |\Delta y_i|^2],$$

Proof. We have for $n \in \{2, \dots, N-1\}$ that

$$\sum_{i=1}^{n-1} |\Delta x_i| |y_i| \leq \left(\sum_{i=0}^{n-1} i |\Delta x_i|^p \right)^{1/p} \left(\sum_{i=0}^{n-1} (n-i-1) |\Delta y_i|^q \right)^{1/q}$$

and

$$\sum_{i=n}^{N-1} |\Delta x_i| |y_i| \leq \left(\sum_{i=n}^{N-1} (N-i) |\Delta x_i|^p \right)^{1/p} \left(\sum_{i=n}^{N-1} (i+1-n) |\Delta y_i|^q \right)^{1/q}.$$

If we add these inequalities, then we get, by the elementary inequality

$$ab + cd \leq (a^p + c^p)^{1/p} (b^q + d^q)^{1/q}, \quad a, b, c, d \geq 0$$

that

$$\begin{aligned}
 \sum_{i=1}^{N-1} |\Delta x_i| |y_i| &\leq \left(\sum_{i=0}^{n-1} i |\Delta x_i|^p \right)^{1/p} \left(\sum_{i=0}^{n-1} (n-i-1) |\Delta y_i|^q \right)^{1/q} \\
 &\quad + \left(\sum_{i=n}^{N-1} (N-i) |\Delta x_i|^p \right)^{1/p} \left(\sum_{i=n}^{N-1} (i+1-n) |\Delta y_i|^q \right)^{1/2} \\
 &\leq \left(\sum_{i=0}^{n-1} i |\Delta x_i|^p + \sum_{i=n}^{N-1} (N-i) |\Delta x_i|^p \right)^{1/p} \\
 &\quad \times \left(\sum_{i=0}^{n-1} (n-i-1) |\Delta y_i|^q + \sum_{i=n}^{N-1} (i+1-n) |\Delta y_i|^q \right)^{1/q} \\
 &= \left(\sum_{i=0}^{N-1} p_i |\Delta x_i|^p \right)^{1/p} \left(\sum_{i=0}^{N-1} q_i |\Delta y_i|^q \right)^{1/q},
 \end{aligned}$$

which proves the first inequality in (2.14). □

Corollary 3. *With the assumptions of Theorem 6, we have*

$$\begin{aligned}
 (2.16) \quad &\sum_{i=1}^{N-1} |\Delta x_i| |y_i| \\
 &\leq \left(\sum_{i=0}^{N-1} p_i(n) |\Delta x_i|^p \right)^{1/p} \left(\sum_{i=0}^{N-1} q_i(n) |\Delta y_i|^q \right)^{1/q} \\
 &\leq \left[\left(n - \frac{N+1}{2} \right)^2 + \frac{1}{4} (N^2 - 1) \right] \max_{i \in \{0, \dots, N-1\}} |\Delta x_i| \max_{i \in \{0, \dots, N-1\}} |\Delta y_i|
 \end{aligned}$$

for $n \in \{2, \dots, N-1\}$, $p, q > 1$, $\frac{1}{p} + \frac{1}{q} = 1$.

For $n = \lfloor \frac{N+1}{2} \rfloor$, where $\lfloor \cdot \rfloor$ is the integer part function, we get

$$\begin{aligned}
 (2.17) \quad &\sum_{i=1}^{N-1} |\Delta x_i| |y_i| \\
 &\leq \left(\sum_{i=0}^{N-1} p_i \left(\left\lfloor \frac{N+1}{2} \right\rfloor \right) |\Delta x_i|^p \right)^{1/p} \left(\sum_{i=0}^{N-1} q_i \left(\left\lfloor \frac{N+1}{2} \right\rfloor \right) |\Delta y_i|^q \right)^{1/q} \\
 &\leq \left[\left(\left\lfloor \frac{N+1}{2} \right\rfloor - \frac{N+1}{2} \right)^2 + \frac{1}{4} (N^2 - 1) \right] \\
 &\quad \times \max_{i \in \{0, \dots, N-1\}} |\Delta x_i| \max_{i \in \{0, \dots, N-1\}} |\Delta y_i|.
 \end{aligned}$$

Proof. We have

$$\begin{aligned}
& \sum_{i=0}^{N-1} p_i(n) |\Delta x_i|^p \\
& \leq \max_{i \in \{0, \dots, N-1\}} |\Delta x_i|^p \sum_{i=0}^{N-1} p_i(n) = \max_{i \in \{0, \dots, N-1\}} |\Delta x_i|^p \left[\sum_{i=0}^{n-1} i + \sum_{i=n}^{N-1} (N-i) \right] \\
& = \max_{i \in \{0, \dots, N-1\}} |\Delta x_i|^p \left[\frac{(n-1)n}{2} + \frac{(N-n)(N-n+1)}{2} \right] \\
& = \max_{i \in \{0, \dots, N-1\}} |\Delta x_i|^p \left[\left(n - \frac{N+1}{2} \right)^2 + \frac{1}{4} (N^2 - 1) \right]
\end{aligned}$$

and

$$\begin{aligned}
\sum_{i=0}^{N-1} q_i(n) |\Delta y_i|^q & \leq \max_{i \in \{0, \dots, N-1\}} |\Delta y_i|^p \sum_{i=0}^{N-1} q_i(n) \\
& = \max_{i \in \{0, \dots, N-1\}} |\Delta y_i|^p \left[\sum_{i=0}^{n-1} (n-i-1) + \sum_{i=n}^{N-1} (i+1-n) \right] \\
& = \max_{i \in \{0, \dots, N-1\}} |\Delta y_i|^p \left[\frac{(n-1)n}{2} + \frac{(N-n)(N-n+1)}{2} \right] \\
& = \max_{i \in \{0, \dots, N-1\}} |\Delta y_i|^p \left[\left(n - \frac{N+1}{2} \right)^2 + \frac{1}{4} (N^2 - 1) \right],
\end{aligned}$$

which proves \square

Remark 3. Assume that $\{x_i\}_{i=0}^N$ is a sequence of complex numbers with $x_0 = x_N = 0$, then

$$\begin{aligned}
(2.18) \quad \sum_{i=1}^{N-1} |\Delta x_i| |x_i| & \leq \left(\sum_{i=0}^{N-1} p_i(n) |\Delta x_i|^2 \right)^{1/2} \left(\sum_{i=0}^{N-1} q_i(n) |\Delta x_i|^2 \right)^{1/2} \\
& \leq \frac{1}{2} \sum_{i=0}^{N-1} s_i(n) |\Delta x_i|^2
\end{aligned}$$

where

$$s_i(n) := \begin{cases} n-1, & \text{if } 0 \leq i \leq n-1, \\ N-n+1, & \text{if } n \leq i \leq N-1. \end{cases}$$

If we take in (2.18) $n = \lfloor \frac{N+1}{2} \rfloor + 1$, then by (2.18) we get

$$\begin{aligned}
 (2.19) \quad \sum_{i=1}^{N-1} |\Delta x_i| |x_i| &\leq \left(\sum_{i=0}^{N-1} p_i \left(\lfloor \frac{N+1}{2} \rfloor + 1 \right) |\Delta x_i|^2 \right)^{1/2} \\
 &\quad \times \left(\sum_{i=0}^{N-1} q \left(\lfloor \frac{N+1}{2} \rfloor + 1 \right) |\Delta x_i|^2 \right)^{1/2} \\
 &\leq \frac{1}{2} \sum_{i=0}^{N-1} s_i \left(\lfloor \frac{N+1}{2} \rfloor + 1 \right) |\Delta x_i|^2 \\
 &\leq \frac{1}{2} \lfloor \frac{N+1}{2} \rfloor \sum_{i=0}^{N-1} |\Delta x_i|^2,
 \end{aligned}$$

where

$$s_i(n) := \begin{cases} \lfloor \frac{N+1}{2} \rfloor, & \text{if } 0 \leq i \leq \lfloor \frac{N+1}{2} \rfloor, \\ N - \lfloor \frac{N+1}{2} \rfloor, & \text{if } \lfloor \frac{N+1}{2} \rfloor + 1 \leq i \leq N-1 \end{cases} \leq \lfloor \frac{N+1}{2} \rfloor.$$

The inequality (2.19) improves Lasota's result (1.4).

REFERENCES

- [1] R. P. Agarwal and P. Y. H. Pang . Opial inequalities with application in differential and difference equations, Kluwer Academic Publishers. 1995.
- [2] P. R. Beesack, On an integral inequality of Z. Opial. *Trans. Am. Math. Soc.* **104** (1962), 470–475.
- [3] R. C. Brown Aand D. B. Hinton, Opial's inequality and oscilation of 2nd order equations, *Proc. Amer. Math. Soc.* **125** (1997), Number 4, 1123-1129.
- [4] R. C. Brown and M. Plum, An Opial-type inequality with an integral boundary condition, *Proc. R. Soc. A* **461** (2005), 2635–2651. doi:10.1098/rspa.2005.1449.
- [5] K.-C. Hsu and K.-L. Tseng, Some new discrete inequalities of Opial and Lasota's type, *Journal of Progressive Research in Mathematics*, Published online: June 17, 2015
- [6] L.-K. Hua . On an inequality of Opial, *Scientia Sinica* **14** (1965), 789-790.
- [7] A. Lasota, A discrete boundary value problem, *Ann. Polon. Math.* **20** (1968), 183-190.
- [8] C. Olech, A simple proof of a certain result of Z. Opial. *Ann. Polon. Math.* **8** (1960), 61–63.
- [9] Z. Opial, Sur une inégalité. *Ann. Polon. Math.* **8** (1960), 29–32.
- [10] B. G. Pachpatte . On Opial like discrete inequalities, *An. Sti. Univ. Al. I. Cuza Iasi, Mat.* **36** (1990), 237-240.
- [11] B. G. Pachpatte, A note on Opial type finite difference inequalities, *Tamsui Oxford J. Math. Sci.* **21** (1)(2005), 33-39.
- [12] J. S. W. Wong . A discrete analogue of Opial's inequality, *Canadian Math. Bull.* **10** (1967), 115-118.
- [13] G.-S. Yang . On a certain result of Z. Opial, *Proc. Japan Acad.* **42** (1966), 78-83.

¹MATHEMATICS, COLLEGE OF ENGINEERING & SCIENCE, VICTORIA UNIVERSITY, PO BOX 14428, MELBOURNE CITY, MC 8001, AUSTRALIA.

E-mail address: sever.dragomir@vu.edu.au

URL: <http://rgmia.org/dragomir>

²DST-NRF CENTRE OF EXCELLENCE IN THE MATHEMATICAL, AND STATISTICAL SCIENCES, SCHOOL OF COMPUTER SCIENCE, & APPLIED MATHEMATICS, UNIVERSITY OF THE WITWATERSRAND,, PRIVATE BAG 3, JOHANNESBURG 2050, SOUTH AFRICA